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Time : 1 hr. 15 mins.

[ Answer question no.1 & any two (2) from the rest |

1. Construct the truth table from the following propositions and determine
whether it is tautologies or contradictions.
{(PVOA(p — rIN(@ — 1)} — 1

2. a) Construct the truth table from the given propositions.

=== r)/\r'/\(r’ —q)

b) Construct the truth table from the given propositions.
(»—(q@—9) /\(~ rAPIANG = r — s

3. a)Ina class of 35 students, 24 like to play cricket and 16 like to play
football. Also each students likes to play at least one of the two
games. How many students like to play both cricket and football?

b) Without using truth table prove that:

~pvA(pAalpAag)=pAg

4. a)Inasurvey of 600 students in a school, 150 students were found to be
taking tea and 225 taking coffee, 100 were taking both tea and coffee.
Find how many students were taking neither tea nor coffee?
b)There are 200 individuals with a skin disorder, 120 had been exposed
to the chemical A, 50 to chemical B and 30 to both the chemicals A
and B. Find the numbers of individuals exposed to chemical A but
not chemical B?

5. a) Write down the definitions of the following;:
i) Complete graph
ii) Regular graph
iii) Degrees of a graph
b) Find the number of vertices, the number of edges and the degree of
each vertex from the following undirected graphs. Also verify the
Handshaking theorem.
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